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Bookiet A

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choics (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.

(20 marks)
Round off 42 808 to the nearest hundred.
(1) 42000
(2) 42800
{3) 42900
(4) 43000 \

What Is the value of 20 thousands, 12 hundreds and 5 tens?

(1) 320050
(2) 210205
(3) 32050
(4) 21250

Express 3% as a percentage.

(1) 300.34%
(2) 300.75%
(3) 334%
(4) 375%

There are 40 students in a class. 16 students wear glasses. What is the ratio of
students who do not wear glasses to the total number of students?

(1 2:3

(2 2:5

(3) 3:5

(4) 3:10




5. Arrange the following from the largest to the smallest.

25 g g-
Largest Smallest
(1) 25 , g , g»
@ 25 , g , g#
‘{3} g ? 25 -g-
(4) g— , % , 25

6. 200 bags cost $7040. What is the cost of 1 bag?

(1) $3.52
(2) $7.40
(3)$35.20
(4) $70.40

7. Identify tbe height of Triangle ABC given that the base is AC.

(1) AB
(2) BC
(3) BD
(4) DE




8. What is the volume of the cuboid?

3
(1) 80 cm 20 om
(2) 1860 cm3
(3) 320 cm?
{4) 400 cm? 4cm

4ecm

g, PQ and RS are straight lines. Which of the following is false?

MY <Le=Le+ LT
2y La+Lb=Ld+ Le
BYLa+r Lb+ Lc=180°
(4) Lo+ £d=180°

10. Figure ABC is a triangle. ZABD is 22° and ZACB is 35°.
Find £DBC.

A

(1) 33°
(2) 5%°
(3) 57°
(4) 68°




11.  Peter made 12 bracelets in the moming and 24 bracelets in the afteroon. He
sold all the bracelets at 2 for $12. Which number sentence represents the total
amount of money collected by Peter?

(1) 12+24+12x2
(2) (12+24)+2x12
(3) 12+24+2x12

(4) (12+24)x2+12

1%. A pattemn is formed using the digits 1, 2 and 0. The first 17 digits are shown
below. What is the sum of the first 35 digits?

12 06 01 11 2001112001
qst 2nd 3

(1) 25
(2) 29
(3) 35
(4) 39

13. Apencilis 5.4 cm long. A pen is 3 times as long as the pencil. What is the
total length of the pen and pencil?

(1) 1512 ¢em
(2) 162¢m
(3) 20.16 cm
(4) 21.6 cm



14.

15.

There are 42 cars and motorcycles in a carpark. Which of the following is not a
possible ratio of the number of cars o the number of motorcycles in the
carpark?

{(1y6:7
(2) 5:2
(3)3:4
{4) 3: 11

A salesman eams $0.50 for every 7 pens sold. He eams an extra $1 for every
20 pens sold. How much will he eam if he sold 142 pens?

(1) $7.00
{(2) $8.00
(3) $10.00
{4) $17.00

End of Booklet A
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Booklet 8 , Do not writs in

this column
Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. {5 marks)

18. Express 1.05 as a mixed number in its simplest form.

\
\ Ans:

17.  Use all the digits to form a number closest to 90 000.

71 18| |9 |2] |1

Ans:

18. b boys shared 6 pizzas. What fraction of the pizzas did each boy get?

Ans:




19. Mr Tan was given 124 sweets. He packed all of them into bags of 8 with
some left over. How many sweets were not packed Into the bags?

Ans:

20. The diagram below is not drawn to scale, Find the area of triangle ABC.

- w

- - "

8icm
¥
d
A‘ 12 ¢m Qe 8cm =D
Ans:

cm?

Do notwiitain
{his column




Questions 21 to 30 cany 2 marks each. Show your working clearly and write your | Boretwitemn

answers in the spaces provided. For questions which require units, give your
answers in the units stated. {20 marks)

21a. Convert to grams.

3.085 kg = g

Ans: . |

21b. Convert to kilometres.
5020m= km

Ans: km

22.  Find the perimeter of square below. Give your answer as a mixed number
in its simplest form.

4=cm

Ans: cm




23. A tin of milk powder weighs 2.5 kg. Mrs Tan bought 10 fins of milk powder and
Mrs Farhan bought 20 tins of milk powder. What is the total mass of the tins of
- milk bought by Mrs Tan and Mrs Fahan?

Ans: kg

24, A basket contains red, blue and yellow balls. The ratio of the number of red
balls to the total number of balls is 2 : 5, The ratio of the number of blue balls
to the number of yellow balls is 1 : 5. What is the ratio of the number of red
balls to the number of blue balls?

Do notyaitein
this column




25. The three sides of a triangle are in the ratio 2 : 3: 4. The perimeter of the
triangle is 135 cm. What is the length of the shorlest side of the triangle?

Ans:

26. | 80 pupils took part in a Math Olympiad Competition. 24 of them won the
gold award. What parcentage of the students won the gold award?

Ans:

%

Donostwilen
s column




27. Whatis the least number of unit cubes that must be added to the figure
below to form a cube?

Ans:

28.  Oliver stacked 11 unit cubes to form the solid figure below.

top view

front view side view

Draw the top view and the side view of the solid on the grids below.

-

TN TRV e

Top View | Side View

- Do notwaitein
tHis column




29. In the figure, not drawn fo scale, AOB is a straight line.
ZAQD is 2 times of £ZDOC. Find £ZDOC.

A

\ D
0 / c
420

Ans:

30. Inthe figurs below, ABC and BCD are two identical triangles.
Given that AB = BC = CD, find £0BC.

B . C

O

130°
{ 25°

Ans:

Dondtwitain
g column

End of Bookiet B
7
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your | 2oretwiten
answers in the space provided. For questions which require units, give your answers
in the units stated. {10 marks)

1. Whatis the missing number in the equation below?

+18x5+3-2=32

5 1 1
2. Kelly has aribbon of length 7 m She used Zm to make a bow and 3 ofitto
wrap a prasent. How much ribbon was left?

Ans: m




3. Mrs Jacobs is now 38 years old. In 4 years' time, she will be 6 times as old as | go, %\ wilein

her son. How old is her son now?

4. The diagram below shows a square, The ratio of area Ato areaBis 2 : 5.
TheratioofareaCtoareaBis3: 5.
Find the ratio of area A to area D. (Give your answer in the simplest form.)

\c




5. The perimeter of rectangle STUV is 38 cm. XVU and SVW are straight lines, | Dot vritein
Line ST is 8 cm. Find the area of triangle SWX,

X

s v w
8cm T
T U

Ans: em?
2




For questions 6 to 17, show your working clearly and write your answers in the

spaces provided. The number of marks available is shown in brackets [ ] atthe
end of each question or part-question. (45 marks)
6. Mrishak paid a total of $447.60 for 3 tables and 9 chairs. Each chair cost
$15.20 less than a table. Find the cost of a chair.
Ans: $ 3]
y L .3
7. Ronny had some money. He spentg of it on a watch and 3 of the
remainder on some books. He had $105 left.
How much money did he have at first?
Ans: [3]

1 Donciwiteh

ihis column




8. The figure below shows a rectangle ABCD. lt is folded along line AE as

Conmotwiinl
s column
shown below. Given that ZEAF is 20°, find 2x.
Ans: 31
9. Two rods, X and Y were tied to form a longer rod, Z as shown below. The
ratio of the length of Rod X to the lengthof Rod Y is 3 : 5.
Find the length of Rod Z.
’?{jlﬂ;ﬁlﬂf Y 0
[H f?‘;f THHO« >
— 73cm
- 21cm .
Z
Ans: [3]
6




10.

In the figure, not drawn to scale, ABC is an isosceles triangle.
BDE is a straight line. ZABC is 126°, £ZABD is 70° and «DCE is 30°
{a) Find £BCD. | B

Ans: (a)

(b) Find £CED.

Ans: (b)

[

2]

Do notwarits in
this col




1 Do not wite In
14.  Anthony has 70 more oy cars than Bala. 7 Of Anthony's toy cars is 25 more this column

1
than 3 of Bala’s toy cars. How many toy cars do they have altogether?

Ans: {4]




12 The usual price of a dress is $118.75. Mrs Tan was glven a 20% discount. | Soretwritein
(a) How much is the discount?

Ans: {(a) M

{b) Mrs Tan paid an additional 7% of GST on the discounted price of the
dress. How much did she pay for the dress including the GST?

(b) [3]




13.  The graph shows the number of patients visiting Tay’s clinic on a certain bo.nolwite In

week. The clinic was closed on Monday.

Number of patients who visited Tay's Clinic

o |
o

e
Pp——
-

S g 3 e

L 4 e 0t i 3

L3 3 o o

ot AR o e

> 8 @

)
L
I

L S AN B S It e e A B B S A o e g e g 3
4 ¥

20 -

40 £

Mon Sat

(a) Whatwas the total number of patients from Tuesday to Friday?

Ans: [2]

{b} Given that the average number of patients from Monday to Saturday is 34,
how many patients were there on Saturday?

Ans: [2]




14,

Do not write In

. , 1
Tank Ais 27 cm by 9 cm by 12 cmand itis 7 - filled with water. All the water | s vmn
from Tank A is poured into container B and it filled container B {o the brim.
Given that all sides of container B are equal, what is the base area of
container B?
Tank A Container B
Ans: {4)
4

10




15.

In the figure, not drawn to scals, AB = AE and BD and BEC are straight

lines.

{a) Find Zx.

{b) Find Zy.

Ans: [2]

Ans: [2]

1

Donolwrite In
this eolumn




16.

Janice and Kelly bought some cups from a stall. The cups are sold in sets of

Do notwriteln

ihis column
2 and 3 cups as shown below.
Large cups Small cups
2for$12 3for $15
(a) Janice bought an equal numbet‘f large and small cups. She spent $24
‘more on large cups than small tups. How many cups did she buy
altogether?
Ans: (a) 31
(b) Kelly bought 6 large cups and had $50 left. She bought as many small
cups as she could with the remaining money. What fraction of the cups
she bought were small cups?
Ans: (b) [2] |
5

12




i ;
17.  Tory spent ry of her money on 5 books and 15 sheets of stickers. The cost of

each book is 9 times the cost of each sheet of sticker. She bought more
books with the remaining amount of money.
(a) How many books did she buy with the remaining amount of money?

Ans (a): , 2]

{(b) Given that Tory spent $231 more on all the books than all the stickers.
What is the cost of 1 shest of sticker?

Ans (b): {31

Do notwrite In
this column

End of Paper 2
~ Please check your work thoroughly. ~
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GAPORE CH ! '

26

Pefcentage s %x 100% = 40%

27

Totalnoof nooded =4 x4 x4 =64
éagstmofmmnmwaﬂwﬁ =453

Leastno of cubesneeded = 16+ 18+ 14 + 7 = 53

28

Top View Side View

PRIMARY S M.
2022 SEM 1 ME|
Angwer Koy
Papert
Booklet A
1 2 4 3 7 3 10 4 131 4
214 [ 2 8 3 1111 2 114) 1
3 4 ) 3 8 2 12 2 151 4
Bookiet B
1
16 15-0
17 |89 721
8 1
18 3‘04'1'5
18 {124 +8=16R4
20 148
219 { 3085
21k | 5.02 or 5,020

Lge el Tealraleglaged
4;&&——18‘2- OR 48*45*48‘*48 162

<000 = 1602-42°
= 440

23 125%30= 253210 =75x10=28
R Tolak B+Y B:Y:B+Y
2 5 :3 1:5: 6
4 W :8
R:8

:4

24 i op
R 1 Tolsl BeY B:Y:B+Y
2 :5% :3 05:25:3
R :B
2 :058
4 4
Perimeter, Su = 135 ¢m

25 fu=135+8=15cm

Shorlest side, 2u=15cmx2=30¢m

ZOBC = 180° = 1309~ 26°
-3 gﬁ
OR Indicate hat L0BC = £BAD = £CDB




Papor2.: 60 marks

G6)

Mark Scheme_

Q1)
+18x54+3-2=22

= + 0 +3-2232
2 t30m2=32

B 28232

Missing numbar = 3228 =4

a2y
Method 1

Loﬂaﬁ«makmma-z-
5
Wrap present = 3- = by

§ 1
Ribbonmzzu rriaali

ey
—

Z
12

X3 LT

3

1
| Wrap present » 3

| ®in
ot
nN

Total used -% +

‘“N;,“lm %
3

Rlbbon!thng-

12 u = $447.60 — ($15.20 x 3) = $402
1 chair = $402 + 12 = $33.80

OR
12u = $447.60 + ($15.20 x 9) = $584.40
14 = $584,40 + 12 = $48.70

Chair = $48.70 - $15.20 = $33.50

OR

3T +9C = $447.60

1T +3C = $447.60 + 32 $149.20
4C = $140.20 - $15.20 = $134
10 = $134+4 = 333,80

1u=$584.40 + 12 = $48.70

Q3)

Mrs Jacobs (4 wrs hme)—«-—-aaﬁ =42
Son then e 42 + G2 7

SO0 NOWemmmcrmrasn T B 5 3

Q4)
A8 C:8
2:8 3:%

Area D= Tum3u= 4u
A:D
2:4
1:2

Gﬁ}
36- (a X2 _ 16 om

Araa ofTﬂangtaWw;-szxs = 80 erm?

Chair = $48.70 - $15.20 = $33.50
Q7)
Heothod 1;
walch
1 2
5 10
< B8 51
5 5 4 5
ramaind 8- §’ 5= 16
left
5u = $105
fu =105+ 5 = §21
Atfirst, 100 =21 x 10 = $210.00
OR
| w
slsfe] | |
W 22
3 of the remalnder = $108

-;— of the remalnder = $105 + 8 = 21
Remainder=$21 x 8= §$168
2 of tha total = $168

%ormwatasaeauuz
Total = $42 x 5 = §210

3




Qg)

LEAF = LBAE =20°

LBEA = 180°- 60 - 20° = 70°
| £BEA = ZAEF = 70°

L% =180° 707 « 709 = 40°

¢ ]

Q9)
Difference in length, 2u» 73~ 21 = 52
fu=52+2=26cm

Rod Y, Su=26x5% 130

Rod X, Ju=26x3=78
RodZ=130em+« 21 em= 181 om
OR

RodZ=78cm+73om= 181 em
OR

RodZ=57cm+73cm +21 cm= 151 em

Q1)

Al W l2s w 251 W 1281 W 28

g Lty - fu 1u 1u |
A=Ay +100

B=8y

If{ add 70 to B, they will have the same number of toy cars

A 4y 100
8 4u i | 70
1y = 100 -70 = 30

Total number of cars = Su+ 100 =30 x 9 + 100 =370

Q10}

L
@ gcp o 18071260

2

{b) LDBC = 1267 = 709 = 56°
ZCED = 180° = 569 30° = 279 = §7°
OR

LDBG = 126% - 70% = 589

£LBOC = 180° - 58° = 27° =91
LCDE = 180° - 579 = §3°
LCED =180° - §3% 30° = §7°

&5
(a} Price aher discount ,%9& X$ 118,76 = §23.75

{b} Price after discount = $118.75.823.75
= $68.00

GST =3x$05=8 665
Amount payabla = $95 + $6.65 = §101.656

OR
7
Amount payable = 100 x$95=8§101.65

o

107

7307 Tow) (Tues 10 Friday) = 54 + 36 + 32 + 26 = 148

Q13b) TolalforGdays=34x8=204
No of patients on Sal » 204 - 148 = 56

ai4)
Amountofwawlnaa-};- X27x9x12 =728 cm®
OR

Amountof waterin A= 3x27 x8 =728 om®
Volume of Cubical container B = 729 cm?®
Dimeasion of cublcal container B =720 = g om

Basc Area = §x9 =81 om?




G186}

{2}

1 86l (differonce) =1 kvgocup~ 4 smalfcup = $6 -85 =81
No of sels = §24481 = 24

Total numberof cups = 24 x 2 = 48

OR
Equal numbaer of cups ~ & small and 8 lerger
1 sat (difference) = galgmggps ~ 8 small cups

= $6
Ne of sots ® 524436 =4
1Total numbarofcups =4 x 2= 48

OR uaing the foliowing multiplas with comect cost

Lamge Cups | Cost | Gmall Cups | Cost | Diff
12 ‘ §72 1 $ $12
18 $108 |18 $80 | 818
24 5144 124 $120 18524
28%2e4B
OR Using Guess and Check

(v) :
Noofsmall cups = $50+315=3 R $5
Totinumbarofcups =3 x3+ 681§

Fraction of cups that are smali = -1?;

And 18 stickers =2 books
No of books {from remaining money) = 18 books + 2 books = 20 baoks

)

Total units spent on books = 180u + 45y = 226u
Totat units spent on stickers = 15u

Difference = 225u ~15u = 210

210u = $231

1 sheet of sticker,1u = $231+210 = $1,10

a1n
(a) 1 sheat of sticker = 1u
1 book = 8y

iofmomy*ﬁx%*wxwx 45u + 15u = 80y’

" of money spent on books = 60u x 3= 180u

Sines 1 book la 94,

No of books {from remaining money) = 180u + 9u = 20 books
OR

%ofmoneyﬂmsuﬂsxm n 45u + 15u = 80u

With 60u, ong can buy - 8 books + 8 stickers

Sifm; of monay spent on books,

Can buy —— 6 books x 3 = 18 books
6 stickers x 3 » 18 stickers

7




